L
=

870 X 12E%(#) H{K 1

17

=1800 X #&iE1250 X B1

EEYSU) =R x 4K BEBIH RIOATL—

=
=1

300kg/E%

\ s OO OO
\ A /A /A /A P//
N/

11111111111111111111111111111

""""""""""""""""" e
=y

N adesm st ade e adese adess adese aders adess adess adea
o

187

187

0e8l B

B3xh1133

L1
o |
MY Y Y Y Y Y YYYYYYYYYY ¥ Y ¥ Y Y V¥ ¥y ¥ Yy LA B M.u 7
J-
~| oo X
i
" Il
Eliiiigaigiddﬁ_%. r N
Y
~ i)
0zil9 T
o
A
IN
2
H _
g 11ev 69 i
X la] K
AT T /_
o o _.W
<r Tp] £
— N
bl b3 kg Lad bd g L9 L9 lg | 0 M
e zr_uoﬁ
092012012012012012012012012011 11 mm_ .
o8| 7
X
O
&
Sy
Q
D
—




